@MJM:&”WJ@AM' 7;:’“"4 e wm.g’v - fwfém‘
@) friveka X(,5 €] N=A+ 2 2R

K=a,+tu, | TV priudy w3
/l//,bz,{?;:&zr,%) 7 (.7 )

= v »
P,‘[a,_, a, q ] j 2L | %ﬁTPWMQ
$rs AT BT\ PUP e

% 7. AUep'§Te Py ﬂ?

mf] oR MSM
-~ i i3i=5 "ZD.V
A= AD= ("7?'3/"'&7) X = J
29
ale, C€ AR
=34 = 3(~1)=-3
=Mkt S g-=1-1=0
1 =k ka1
c/=3;0;1)
4 MM - K=A+ kit 07

["'Igiﬂ //L /'“4., Uy, 4,..3) X = a-(f"érqq-f-fom' ?VM/?’
,@, v, 5 FTL Rt og | A 3)
7 %

A = Fy 4 £ Mz ¢ OUT

Pir. et Py A:mg A8C - Al701], B[1i2;3], [ 3,-1)
<

=z _;z—'v: o, ksd+0.t+1p
f "’i fz:,a.e,.a) 5 =242 43 4
E = Ac = (1, 3,-2) 2 =3+24&- 2 5

2. é/«fﬁz:; Al -%af /rz:fl'— {,3] Ly D Al ABc - A[A'Zl._qj\_ggiﬂt-‘]l('&-{'ﬂﬂ
@. /d?—ﬂf) (-@ 'f;»&) x= ’/’f‘:a,f—'z.d ZA’EP?'

- ~A=A+24-20 [@ -3=5-~ 042
IR A s ’@;_2@9
=TT rRE 1A =~

I T 2450 —lan e

S =-1+2+) & 3=3 /‘(6/}5&
,aCJ De (n-e.c_) o

Li-G2T BSi200] o] Dfar i,

s st omsabict, foctee 1 Y=4

- z_éﬂ:—_ﬂ
WAL=(,30) @ L+£-40  Deg: 3=4«+,ta4r.053¢+2ﬁ=-4;.z
,?,_" dc __(?(,z/-é) —1t34.424 “2=-At34424) 5,4 -—=
L=2K -6r R =2-24-Co A= %
'-_-—-—-—._.___._.—
"2 —4a=-1 ©=2+5-£




